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Simplify each of the following. Leave your answers in surd form.

a V2xV3 b V5x43 c V2xV2 d \2xV8 = ¢

e V5xV8 f V3 x\3 g V6 x 12 h \7xV3 = [z

i V2 x\7 i V2x\18 k V6 xV6 1 V5xV6 :.[:-3’0
Simplify each of the following. Leave your answers in surd form.

a V1213 b V153 e V122 a V2487 (3

e V40 +V8 £ V3+13 g V6 +12 h V21 V3 = [q

i V28 £ V7 j V48 =8 k V6 + 6 1 V54:v6 = 3

Simplify each of the following. Leave your answers in surd form.

a V2xV3xV2 b V5xV3xV15 c V2xV2xV8 d V2 x V8 xV3< /a3
e V5xV8x\8 £ V3xV3xv3 g V6 x V2 x V48 h V7 x V3 xV3 /63

i V2 xV7xV2 i V2xY18x15 k V6 xV6x\3
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@ Simplify each of the following surds into the form avb.

a VI8 b V24 =2/0 e V2 =23 d V50 =53
e V8 £ V27 = 3/3 g V48 =4 /3 h V75 = s /3
i V45 i V63 =3[ k V32 =442 1 V200 = (0 /32
m V1000 n V250 = $ {io o V98 =/z p V243 = q (7
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